
All manufacturer’s names,numbers,photos,product description and/or part numbers are used for reference purposes only & it is not implied that any part listed 
is the product of these manufacturers.  Since Approvement are made from time to time,  the illustration and specifications are subject to change without notice. 

www.partsforcompressor.com

8. AIR INTERCOOLER ASSEMBLY - MODEL 71T2

R



All manufacturer’s names,numbers,photos,product description and/or part numbers are used for reference purposes only & it is not implied that any part listed 
is the product of these manufacturers.  Since Approvement are made from time to time,  the illustration and specifications are subject to change without notice. 

www.partsforcompressor.com

R

8. AIR INTERCOOLER ASSEMBLY - MODEL 71T2

No.

8-0

8-1

8-2

8-3

8-4

8-5

8-6

8-7

8-8

8-9

8-10

8-11

8-12

8-13

8-14

8-15

8-16

Ref Part No.

37004942

30283881

30294870

95033296

30221121

95002168

30345243

72062151

30335301

30335285

95083184

30218242

95053070

95043196

95094298

30822928

Description

Intercooler Assembly - Air

– Manifold Complete - HP

– Manifold Complete - LP

– – Gasket

– – Plug-Pipe

– Connection - Manifold

– Screw Cap 5/8 x 1-1/2

– Washer - Steel

– Valve - Safety

– Tube- Finned - With Nuts

– Tube- Finned - With Nuts

– Connector - Tube

– Shroud - Top

– Screw - Cap 1/4 X 1/2

– Washer - Lock 1/4

– Washer - Steel 1/4

– Shroud - Bottom

QTY

1

1

1

2

2

2

2

2

1

6

6

24

1

8

8

8

1


	Page 1
	Page 2

